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& [EFES K % M) DR EFEHH smEE (123456 T7[8[9([108F= ﬁ:x 3 (=i
1] 113 |[fefE BRF  |[T&5 wuc B (R)
2| 1118 |FFE &KX <YERS Yesrk  |EEH x|O] x|O|O| x|Of x| x|x]| 4 3
31 1128 |3BO Bk HESE BEP B[ x| x|Ol x| x| x| x|[O] x| x| 2 4
41 1263 |2 BFH DERNR P3F =™ x|O|O|O|O|Of x| x|O|O]| T 2
5| 1264 |BRZE FEth Ry O® pELadyn] x| x| x| x| x| x|[x[x|x]|x] 0 5
6| 1085 |Fth EAR <5 BR B R x| x| x| x| x| x|x|x|[x]|x| 0 5
7| 1507 |EEER 1LHR AUN5 UAHE BRI Ol x|O|O|O|O|Of x|O|O] 8 1
FHNo. A27 H14kNo. THAb+ BERE  11:10 sirehags  11:30
& |EFES K # IO RITAN EFHH wEE (1234567 [8[9(108F= ﬁ:x 3 [
11 1097 /NHE BE [sruE U R 53 x| x| x| x| x|x|[x|[x|x|x]| 0 6
2| 1191 [—/& FE |ws0<5 530 [{E&EW x| x| x|[O|O] x|Of x| x| x| 3 2
3| 3060 [k BER TES VR J\IESET gl x| x| x| x| x|x|x[O]x|x| 1 5
41 1393 [FE E= LEhH ADF =30 x| x| x| x| x| x| x[O|O]| x| 2 4
5| 1444 (/E AF oohd LedAL  |(|LHET x| x| x|O| x| x|Ox[O|O]| 4 1
6| 1219 [/hF8 R il yoE bt x| x|[x|x|x|x|x[O|O[O] 3 3
71 1505 XK fRsE |cowEn 5A0 BRI x| x| x|x|x|x|[x|[x|[x|x]| 0 6




#ENo. A28 H#4kNo. 8%k BERE 11:10 FRrcBE  11:30
i mzas| B % sums | mEEa | wesm|1|2]3]4]s5|6|7]8]00|ma ]ﬁf it
1] 1440 [ F= £#55 505 [ |\LEHAT = | x|o]x[x]|ololo[x[o]o] 6 1
2| 1482 |8 HmARTF  |mvep mmc i) Ol x| x| x[O] x| x| x|O|O] 4 4
31 117 |FEiE X&H BRIRET TE —=HT s o59F| x |O] x O[O x| x|O|O| x| 5 3
4| 1492 |GIE EE nwutE F=o — =l x| x| x| x| x|Ol x| x|[O|O] 3 6
5| 1005 |H E=E r2Bh HOH BRRE T n x[O x|O] x| x|[Of x| x]|x]| 3 5
6| 38 [\mEE BE |sruzx zon bt s5F 0 [ x| x|O|O|O[O|O| x| x|Of 6 2
7| 1506 |PaUgR IERE BR FETB BT x| x| x| x|x|O x| x|x]|x| 1 7
mHNo. A29 H4kNo. 9%k BERE 11:10 B 11:30
B |=F&ES K # INLINAITAN EFHHA WEcEE [ 123456 7]8[9]10|"xR " ﬁjﬁ 3 IEfL
11 1401 |[B® #eR BHIH B3 i) ) x| x| x| x|OlO]| x|O|O[O] 5 2
2| 1236 [TH FE 512 Lwdn bk 1 (R)
3 1147 |THE M <E> L =hh x| x[O] x| x| x|O] x| x]|x]| 2 3
41 1223 |tk BRK TES UpAK Jbtmm M E | x| x]|O|O|0O|O| x| x|O|O] 6 1
51 1412 |#A)1 =3 FEHD HD iy N x| x| x| x| x| x| x[O] x| x| 1 6
6| 1480 |MA #E BHEE L&>T  |SEEFHET x| x| x| x|O|O| x| x|x]|x| 2 4
71 1504 |:BE AKX M UE 5% BT x| x| x|[x| x| x|O] x|x|x]| 1 5




